Name: Class: Date: ID: A

Lesson #11 A-2: Solving and Graphing One Variable Absolute Value Inequalities
(Reference: Lesson #91 & #101 in book)

Problem

1. For each of the following inequalities please solve for x, graph the inequality, and give me the solution
in interval notation.

1. x| <4
2. |3x| =18
3. [H4x+2|<2

A k-2]+8=10

5. 4|2x+6| <-24

6. 6l4x—2|—12>24

7. 102x+3| -6 > 44

8. —8|-3x+6/+4<-20

9. 2[3x+3)-5-5x| -4<8
10. -3[2(x—4) —x+4|+8>-16
1. 44(x-3)+2(=x+2)|-3<37

12. -3|3(+3) +2(-x+2)-8|-3>-27



